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101|R#A7 L 427 45 382| Kg |EE 1,944 270|F 5 2,755 648
102|357 L 1,610 1,610| Kg BIE 1,593 694
111|&EEF £ 298 298| Kg =40 1,944 392
113|RAV S 6 6| Keg FfE 2,700 2,484
114|B5EFE 174 12 162| Kg |ERES 1,188 BRE - &E 2,970 324
15[ 1= 18 11 7| Keg |EE 2,484 863| =& 3,024

117[1E 89 6 83| Kg |@EB 1,620 1,296| & 3,780 864
21| bl E 1 1 Kg fE 1,296

134[#= = 233 80 153| Kg |RI& 4,000 2,500| &£ 3,780 1,944
137|&5ES. < 24 21 3l Ke |[x% 3,024 432| K4 7,131 3,564
140(5 I 10 10| Kg FE 43,200 32,400
147|EZ O 70 70| Kg il 12,960 6,500
158|EIEA A LS 270 270| Kg R 2,430 432
201{Lvb L 682 682| Kg =3B - /) 621 198
203|/hd L 71 71| Kg R 378 324
205|3.3 L 116 116 Kg & 594 486
206| = 1F 160 160 Kg B 583 353
208| Mo % 299 299| Kg =5 1,728 605
210|1F ALy 104 104 Kg [wO 4,860 1,350

212|&5E.3Y 530 530| Kg FIE 2,668 1,450
251|< B %<3 316 316 Kg |F=E 3,456 3,348
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303[A 27z 769 83 686 Kg |RJI 468 108| & - RIG 576 355
306|L e k) 12 12| Kg i 1,188 864
3191 h o 72 72 Kg B 1,620 864
332|117 WA EF 149 149] Kg i 2,916 1,782
3BlHHY 15 15| Kg FEE 5,184 2,700
3541 <Y 28 20 8| Kg |[FE 1,620 1,404(#E 1,404

3/5|HEY 130 130 Kg EE - hE 1,836 600
356|L L& 50 50 Kg SER 1,512 864
3577~ E 25 25  Kg FEE 10,800 945
362| & 88 88 Kg BJE 3,240 612
401|H W 10 10| Kg FAN 2,052 1,998
4025 5 &E 10 10| Kg A0 5,616 5,508
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70110 BA 520 436 84| Kg |F:M 1,674 1,240|ERS 2,700 1,890
71019 2 ®HA0F 20 201 Kg BRS 1,620 745
BlBEFALANIN 248 248 Kg |B1R 892 665
755(Fd L 22 22| Kg E=AES 1,274 1,044
56| £ 9 3 3] Kg RIE 2,700
7611 b BHAEL 18 18 Kg AL 2,520
76713725 W\ H 206 206| Kg Z1 3,300 1,620
B01[IBAL = 1S 72 72| Kg ¥ -mA 1,728 1,188
802|1 x| 40 401 Kg gl 1,804 1,404
8041 % 9 32 321 Kg blo ] 1,008 675
805 = 1E 147 147 Kg bF 1,145 691
810|FAKXF 218 218 Kg biF 2,160 1,350
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